Grading Guide Exam One Econ 200 A Spring 2004
Question 1
#1

A. Total = 9


Scarcity 1: No 1, because he does not prefer more to less 1.


Substitution 1: No 1, because he does not give up money for food 1.


Satiation (DMV) 1: No 1, because MV are increasing or constant 1.









(MV = -6, -6, -8, -10).


Bonus: (total points for #1 A does not exceed 9)


Among choices take the most preferred 1: No 1, because there’s no way to specify what a preferred choice is (Lack of opportunity to trade) 1.

B. Total = 10


Uncertain 1

Storms
→ supply curve (industry) shift to the left 1



→ Price ↑ 2
(1) Jones isn’t hit by the storms


Same quantity to sell at higher price


TR = P * Q ↑ 2
(2) Jones is hit by the storms


Less quantity to sell at higher price

(a) demand is elastic: TR ↓ 2
(b) demand is inelastic: TR ↑ 2
Question 2
Grading Strategy: Question 2

Q2 has 3 parts. The points are divided as follows: 2A (7 points), 2B(6 points) and 2C (6 points).

2A. If the answer talks about relative prices and relative change in consumption of steaks compared to potatoes (full points). Partial credits are given if some body does not say anything about relative prices but talks about changes in consumption because of increased prices (3 or 4 points).

2B. Full points for correct definition of inflation adjusted income. Partial credits if the answer cannot exactly pin point the correct answer but has some sense of the problem.

2C. Full points for saying better off and explaining why. Partial credit if says better off but can not explain the reason well enough.

Question 3
Q3. 

Points distributions: A-4 points, B-5 points, C-5 points, D-5 points (Total 19 points)

A) You have to mention the any change of current price, not the price change next fall! Many students mentioned just the price change next fall, not the change of price now. In this case you might lose your points. And you have to mentions supply side factor and demand side factor that can effect on the price now.

B) First, you have to mention that pears are a substitute for apples (if you didn’t you might lose your points). Then you can use your reasoning to explain what would happen to the price of pears.

C) In this part, I saw your reasoning to explain your answer for credits (but, most cases of your answers were the second parts of the grading guide). You had to give detail explanations to make your answer sense. Just guessing without your explanations was not acceptable (you might lose your points in this case).

D) This is not shortage problem (shortage happens with price control, not here). In this case just we see lower supply and larger demand. And, because of those factors, there would be a new market clearance price. You had to mention demand side and supply side to explain how higher price is derived.

Question 4
Question 4 a – 6 points

Interpretation 1: Coupon gives $20 OFF, when 10 cans are purchased

· 2 points were given for noting that Jody is better off under the new pricing system.

· 2 points were given for correctly noting that now Jody will either buy the same amount OR more cat food. (Still 1 point was given for only stating that Jody will buy more cans of cat food. Equally 1 point was awarded for stating that she would buy the same amount of cat food.)

· 2 points were given for explaining that under the new pricing scheme, she will have more income at her disposal as before which causes her marginal value for cat food to go up, so that she will buy more than 10 cans, if the marginal value of additional cans has now risen above the new price of $3.

1 point was deduced for stating a concrete quantity that she will buy under the new pricing scheme.

Interpretation 2: Coupon allows to buy 10 cans for $20

· 4 points were awarded for stating that the same bundle as under the old pricing scheme is available to Jody and that she will buy the same amount of 10 cans as before.

· 2 points were given for explaining why that should be her decision, i.e. for stating that buying less than 10 cans will make her worse off and that the 11th can will surely not be purchased as its marginal value is below $2 (and therefore surely below the new price of $3).

Question 4 b – 6 points

· 2 points for False.

· Up to 3 points were given for a sensical explanation of why time should be considered part of the economic cost.

· 1 more point was given, if the explanation included a correct use of the concept of “highest valued foregone alternative” or “opportunity cost”.

Question 4 c – 7 points

· 3 points were given for noting that the same bundle of goods (10 Pepsi, 10 Cookies) is still available at the new prices.

· 2 points were given for noting that the new prices are preferred (or for answering True).

· 1 point was given for noting that definitely a different bundle of goods will be purchased at the new prices.

· 1 point was given for noting that due to the law of demand that new bundle would include more Pepsis and less cookies.

In general, for any mistake that showed that showed a basic misunderstanding of one of the economic concepts, 1 point was deducted.

Question 5
a)6pts

Good answers included:  Necessity not well defined in economics.  Water is a good and scarce as a result it is subject to the law of demand.  If the price increases then the quantity purchased will decrease.

b)6pts

Good answers mentioned: determining an increase or decrease depends upon the elasticity of gas and the size of the tax (which will effect the elasticity of gasoline)

A common mistake was to say the revenue will not go up and not mention the possibility that it could increase. 

c)7pts  Frivolous is not well defined in economics.  What is called “Frivolous” really means many people (not all) have a low marginal value of water for that use.  Good answers mentioned that an efficient solution to this problem was to allow the price to adjust to an equilibrium where supply is equal to demand.

Question 6
 You need to consider these questions with the given assumption (two apartments in Berkeley and Oakland are identical).

(4pts) A: Longer in Berkeley (4pts), explanation worth (3 pts). I was looking for explanation using some economics concepts, such as price control and shortage.

(4pts) B: Tenants would be willing to live in the Berkeley apartment longer (4pts), 

                explanation worth (3 pts)

(3pts) C: More in Oakland (3 pts), explanation worth (2 pts)

(4pts) D: Poorer in Berkeley (4pts), explanation worth (3 pts). Discuss about effects of the shortage of Berkeley apartments.

(4pts) E: Higher in Berkeley (4pts) , explanation worth (3 pts)

